()
C& C30MK I

"Head" Accessory Caddy

Front view

Installed in SV " Wyndisphree"
86E18806
(02/28/2000)




(1)
C& C30 MK I

Building the" Head" Accessory Caddy

Lo

This package contains instructions and sketches plus scanned pictures.

2. A degree of woodworking skills and equipment is necessary to make the pieces
and assemblethe unit.

M aterial

1 pieceteak 3/8" thick x 4 1/8" widex 30" long.
1 pieceteak 3/8" thick x 4 1/8" widex 20" long.
1 pieceteak 1" thick x 4%2" square.

Epoxy glue.

#6 SSscrewsx ¥4' .

Teak plugs.

oukwnNE

Equipment

Table saw with carbide blade.

Drill presswith drill bitsfor # 6 screws.
Router and 45 degree and curved cutter bits.
Drill press sanding disks.

Assortments of clamps or equivalent.

3/8" power drill & bits (to drive screws).
Wheel & Circle cutter (for 234" dia. holes).

NogkrwbdpE

Good luck, and take your time making the unit. You can e-mail meif you have
problem or need advice.

Ed Ludwik

94 O’ Connor Crescent

Richmond Hill, Ontario, Canada L4C 7N8
(905) 737-2093

theludwiks@gta.igs.net



2
C& C30MK Il ="Head" Accessory Caddy

Cutting I nstructions

From the 3/8" thick x 4 1/8" wide x 30" long teak board.

A(1) 1piece4d 1/8" widex 142" long (top shelf).
A(2) 1piece4 1/8" widex 142" long (btm shelf).
A(3) 1 piece35/8" widex 135/8" long (btm support).

From the 3/8" thick x 4 1/8" wide x 20" long teak board

B(1) 2 pieces37/8" widex 2 5/8" high (shelf end supports).
B(2) 2 pieces37/8" widex 25/8" high (container sides, btm).
B(3) 1 piece35/8" widex 25/8" high (container front, btm).
B(4) 2 pieces1" high x 37/8" long (container sides, top).
B(5) 1piece 1" high x 35/8" long (container front, top).
B(6) 1piecel¥d" x 32" (straight insert) .*

B(7) 2pieces1¥sd' x 3" (X insert). *

From 1" thick x 4 ¥%2" squareteak board
(tooth brush storage)

C(1) 1lpiecel" squarex 35/8" (grain) long, top.
C(2) 1piecel" widex 35/8" longx 25/8" (grain) high, btm.

Note* Templatesare provided for these pieces.

Underside




(€)]
C& C30MK Il ="Head" Accessory Caddy

Assembly Instructions - Part |

. Cut thewood pieces listed under the 3 boards on Page (2). Some will be oversize
and will betrimmed duringassembly (thegrain should bealongthelongest length).

. Layout A(1) - Top Shelf using the diagram on Page (4). Cut out the 3 holes and
container opening. Round off the Curved corner and center punch the 3 screw
locations at either end. DO NOT drill the screw holes. Usetherouter toround the
4 outside edgesfrom the Start Point to the End Point . Usethe 45 degree cutter to
make a small chamfer on the 3 large holes (2 94" dia)

. Lay A(1) on top of A(2) and clamp. Use a drill pressto drill the 3 screw holes at
either end. Round off the corner on A(2). As above, round the 4 outside edges of
A(2) from the Start Point to the End Point.

. Set up thetable saw to cut to measurement the 4 piecesto makethe Container Top,
Page (5), C(1), 2x B(4) & B(5) and the4 piecesto makethe Container Bottom, page
(6), C(2), 2x B(2) & B(3). Theshelf end supports, Page (6), 2 x B(1) should be cut
tosize. Itisimportant that the spacing between A(1) and A(2) beidentical at 25/8" .

. Assemblethe Top and Bottom Containers. Use epoxy glue, clampsand makesure
the 2 assemblies are square.

. Usetemplates B(6) & B(7) and maketheinserts. Epoxy gluethe 2 sidesto insert
B(7). Round off theunder side edges of A(3) with arouter. L ocatethetwo insertsat
either end on theunderside of A(3) per thediagram on Page(7) and drill/screw in
place from thetop side.



(4)

A(1) — Top Shelf

(+ locations of # 6 screw

C & C 30 MK II — “Head” Accessory Caddy

s)

Curved corner -%* radius End Point Start Point ————s—
o . ey |l.IO
e 2 P W_ l..1.—u_~wm3h_-...n_||u.w___m$ o
] ' 4
3 . \ +
13/8" * opening
#. M Wmﬂ
* 4 D~ -+ | 418"
13/8"
g < 27/8%
i +
_. L
- 14 %" L .

A

T 916>

3/16” pilot holes 9\




()
C&C 30 MK IT - “ Head"” Aceessory Caddy

Container Top — C(1), B(4) & B(5

1/8” e 3!8’,’\ &
. 1/8
Epoxy glue J/J,/ Epoxy glue
_-\ 1 —»|<— 718" 78" / gk

8

b N . ~~ -~

5 / R \

5 +/] rx + i

UAY e 4

¥

e s

3/8 39 -
2 %.!
B(4) = B(4)
s 2718”7 ——»
3
1
A 1/87

Epoxy glue -/ Front View \—“ Epoxy glue
B(5)

1”

L

o o e e e e}
— . e = ——




(6)
C & C 30 MK II — “Head” Accessory Caddy

Container Bottom — C(2), B(2), B(3)

Top View
!r""\\ .-*‘"-'«,\ /"'"'»_‘ ff‘-_‘\
: f
epoxy glue 5 i\ -+ jl { -l— 3 { -]—J, '\ + ) IE epoxy glue
o ~ — — 'H.s..-"'r

epoxy glue
\ |

N T &£

/ epoxy glue

7 5/8"

Front View

B(1) ;

. | e ———— v — —— — i — oo o i il
o o — o g o L

2717 ——————|



(7

C & C 30 MK Il —“Head” Accessory Caddy

Bottom Support — A(3) & Templates, B(6), B{7)}

=—11/8" —T—'I-@—P'[-t‘—]_ 1;sﬂ—i-| 3 4m
. 38"
1A [
-‘ sigr )
I
! ¥, ,*[_
1T
;
]
I
I
{right underside) == | (left underside)
PR |
epoxy glue epoxy glue
+
" T
! !
358" e 35487
|

I (+ locations of # 6 sorews)




(8)
C& C30MK Il ="Head" Accessory Caddy

Assembly Instructions - Part | |

. Locatethe Container Top on top of the A(1) opening. Clamp in place. Turn the
combo upside down and use a drill pressto drill and countersink the 4 holes.
Securethe Container Top to A(1) using#6 SS 1" screws.

. Next, locatethe Container Bottom beneath the assembly aboveand securein place
using epoxy glueand clamp in place. Make surethat thereisno glueresidueon the
teak.

. Useadrill presstodrill 3/16" pilot holesfor the4 tooth brusheslocations. Usea %"
drill to open the holes. Drill to a depth of 3%2". Usealong 3/16" drill to continue
and make a4 drain holesfor the teeth brushes.

. Place the unit on its back and epoxy glue and clamp A(2) to the assembly. Make
surethat A(2) isin linewith A(1).

. Router thefront vertical edges of B(1) x 2 using the 45 degree cutter. Clamp them
in their proper position at either end.

. Usethedrill pressand a combo_ drill/countersink to open up the 3 holesat either
end of A(1). Thiswill allow the screwsto berecessed and cover ed with ateak plug.
Countersink the 6 holeson the underside of A(2).

. Securethemin placewith 12#6 SS1" screws. Install 6 plugson A(1) and carefully
sand them flush.

. Center A(3) to all edgeson the underside of A(2) and secureto A(2) with 6#6 SS
screws X ¥4' (2 each at each end and 2 in the middle).

Your Donel

Congratulations



